Physics Equations

Chapter 2
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Chapter 3





Chapter 4

F=ma     or        ∑Fx = ma        ∑Fy = ma             Fs = µsFN         Fk = µkFN
Chapter 5


Chapter 6

P=mv

J=FΔt

FΔt = ΔP=mvf-mvi

Chapter 7

Average Velocity


       Vavg = ΔX


                   Δt





Displacement


ΔX = Xf - Xi








Average Acceleration


         Aavg = ΔV


                     Δt





Horizontal motion


Vx = Vi CosØ


ΔX = Vi CosØ Δt





Vertical Motion





Vyf = Vi SinØ – g Δt


Vyf2 = Vi2 (sinØ)2 – 2g Δy


Δy = Vi sinØ  Δt  – ½ g Δt2


Ymax = Vi SinØ Δt - ½ g Δt2





Ø





½ Δt





½ Δt





Vy=0





Ymax


½Δx





ΔX





Δy = 0





W = F d


Wnet = ΔKE


ME = KE + ∑PE





ΔKE = ½ mV2


Peg = mgh


PEK = ½ kx2


ME = KE + ∑PE





P = W/Δt


P = FV





Newton’s Law of 


Universal Gravitation





Fg =  G m1m2


                      r2





G = 6.673x10 -11 N m2/kg





   





Centripetal Acceleration


ac =  Vt2


              r








Centripetal Force


Fc = m Vt2


          r


   





Period and Speed of object in Circular Motion





T = 2π   r3       Vt2 = G m


             Gm                   r





G = 6.673x10 -11 N m2/kg





   





Torque





t = Fd Sinθ





Conservation of Momentum


m1v1,i + m2v 2,i  = m1v 1,f + m2v 2,f





Perfectly Inelastic Collisions


m1v1,i + m2v 2,i  = v,f(m1 + m2)





Conservation of Energy


½m1v1i2 +  ½m2v2i2 = ½m1v 1f2 + ½m2v2f2








